Mathematics 466						Midterm (50 points)	10/9/19
Points (leave blank)							
1	2	3	4	5	Σ	Name:	
						(clearly, please)	

Honor pledge: I have not given, received, or used any unauthorized assistance.

Signature

You may use a pocket calculator that is incapable of transmitting data; it may not store user-defined information. You also may bring a handwritten single page, letter size with notes. You can work on the problems in any order you like. Show your work! All problems carry the same weight. Justifications are a crucial part of a solution.

1) Let *G* be a group and  $S \le G$  a subgroup. We define a subgroup

$$N = \{g \in G \mid g^{-1}Sg = S\}.$$

Show that N is a subgroup of G (it is called the normalizer). (**Hint:** You can either use the subgroup test, or observe that N is a stabilizer under a suitable (say which) action.)

Jet a, b  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. Then  $(ab)^{-1}S_{g} = b^{-1}a^{-1}S_{g}b =$ The cb  $\in$  N. The conduction of t  $(ab)^{-1}Sg = b^{-1}a^{-1}Sab = b^{-1}sb = S$  $= S_{1}saa ac N$  $S = bS = b^{-1}Sb = S$  $= S_{2}saa ac N$  $S = bS = b^{-1}sb = b^{-1}sb = S$ 455Q

2) Let  $G = \mathbb{Q} - \{0\}$  the multiplicative group of nonzero rational numbers and

$$H = \left\{ \left( \begin{array}{cc} a & a - 1/a \\ 0 & 1/a \end{array} \right) \mid a \in \mathbb{Q}, a \neq 0 \right\} \leq \mathrm{SL}_2(\mathbb{Q})$$

(You do not need to show that it is a subgroup.) Show that G is isomorphic to H.

$$\begin{aligned} & \left[ e^{A} \quad Q : G \rightarrow H \right]_{q} \Rightarrow \begin{pmatrix} q & s^{-\frac{1}{q}} \\ 0 & \frac{1}{ab} \end{pmatrix}_{q} = \begin{pmatrix} a^{A} & a^{A-\frac{1}{q}} \\ 0 & \frac{1}{ab} \end{pmatrix}_{q} = \begin{pmatrix} a^{A-\frac{1}{q}} \\ 0 & \frac{1}{a} \end{pmatrix} \begin{pmatrix} b & b^{-\frac{1}{p}} \\ 0 & \frac{1}{ab} \end{pmatrix}_{q} = \begin{pmatrix} a^{A-\frac{1}{q}} \\ 0 & \frac{1}{a} \end{pmatrix} \begin{pmatrix} b & b^{-\frac{1}{p}} \\ 0 & \frac{1}{a} \end{pmatrix} \\ & = \left( e^{A} a^{A} b^{A} \right) = \left( a^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A} & a^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A} & a^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) = \left( e^{A} a^{A-\frac{1}{q}} \right) \\ & \left( e^{A-\frac{1}{q}} \right) \\ & \left( e$$

- **3)** Let  $G = \langle g \rangle$  be a cyclic group and  $S \leq G$ .
- a) Show that  $S \triangleleft G$ , and that G/S is cyclic.

b) Assuming that |G| = n and |S| = k (dividing *n*), find a set of representatives for the cosets of *S* in *G*. (**Hint:** First note how many cosets there are.)

4) Consider three coins, lying in a row, heads-up. We label their heads as 1,3,5, their tails respectively as 2,4,6. We now consider symmetry operations that consist of turning individual coins over, or swapping the positions of coins. These operations generate a group, we describe it by permutations which come from the action on the numbers, and get the group (generators are individual coin flips and swaps of adjacent coins)



$$G = \langle (1,2), (3,4), (5,6), (1,3)(2,4), (3,5)(4,6) \rangle,$$

Let  $S = \text{Stab}_G(6)$  and  $T = \text{Stab}_S(4) = \text{Stab}_G(6) \cap \text{Stab}_G(4)$  the subgroups of operations that fix the right, respectively the right and middle coin. (You may assume everything up to now as given and do not need to show any of it.)

- a) What is |T|? (**Hint:** The action of *T* can only change the left coin.)
- b) Calculate the orbit of 4 under *S*. Use this to calculate |S| from |T|.
- c) Calculate the orbit of 6 under *G*. Use this to calculate |G| from |S|.
- d) Give an example of a permutation of  $S_6$  that is not in G. Explain why.

2 (Minor und) ONST 10 E (12134), Ales (9 = 4.2 = 8 to both is R13M,5163, Ky 61-68=48. ٤I (13) would have to dealing the two letterson coins, so (13) ES.

5) Let *G* be a group and  $U \le G$  with [G : U] = 2 and  $x \in G$  with  $x \notin U$ . Then *U* and *Ux* are the two cosets of *U*. We have seen in class that *G* acts on the cosets of *U* by right multiplication. (you do not need to show any of this).

a) Let  $g \in U$ . Show that Ug = U and Uxg = Ux (that is g fixes both cosets).

b) Let  $g \in G$  but  $g \notin U$ . Show that Ug = Ux and Uxg = U (that is g swaps the two cosets). (Hint: Uxg = U is equivalent to  $Ux = Ug^{-1}$ .)

The results of a) and b) together show that the map

$$\varphi: G \to S_2 = \langle (1,2) \rangle, \qquad g \mapsto \begin{cases} () & \text{if } g \in U \\ (1,2) & \text{if } g \notin U \end{cases}$$

is a homomorphism (you do not need to show this.)

c) Show that ker  $\varphi \leq U$ .

d) How large is the image of  $\varphi$ ? Conclude that  $U = \ker \varphi$  and thus that  $U \triangleleft G$ .

(You thus have shown that a subgroup of index 2 is normal, as was claimed, but not proven, in class.)

9) If gell the Ug=4. Sie a pouterte catt ve cand have lexy-l as well the Uzg-Uz 6) Agdu Ug = 4. But there are out two osets, the Ug=Ux. DThogel, the  $U_{5}'=U_{X}=U_{z}U_{z}=U_{xg}$ let gahere. Ner (1g=4 (586(9)=0)) fly gell N) We know that elx1 + (1, thy el6) + 5(13, they e(6)=Sz and the [a: haved]=2by the homophon theore => U=heve.